BHR FH2FE REKE EERR-E FR=-1

HBERFR

| me BIRE  prrubiy SR & me kit

B w eE [T 2@ (BT o BTy om BTy o8 By oE [Bry @ (B oE [BEy oS

(BERTHEHS)
BHLEXR

3 25 4 60 2 50 9 135

(s, KTH
=Et 2 20 1 3 3

Atk 1 7 1
KB L)
Fet A

(AT, 0
BT, FRLATET)

(85T . #HATET)
FHEL

E
(HE M, XEHT) 0
(CERRT(IB=H
Hr))

INEER
(NET. &R
BT, &850 ET) 0
(CEIRET (1B L
HT))

[=1(=]

[=1(=]

a5t 5 45 0 0 4 60 0 0 0 0 4 124 0 0 0 0 13 229

ol
=+

ot me Py I T— i o w2 T

LLESES Eth £ (B £E B &8 |BFHR 2% (BTN £E B S8 B &8 Bl £8

i
7Y
i

N

=

op
onl
oy
o
o
o
o
o
o
o
o
o
o
w

37 0 0 0 0

~ |o|lo|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|o|w|o|o|o|o|o|v|o|=|o|o|o|o

w



